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THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 HAT 144 0 1 0 2 3 3 1 2 6 0
20 fE&LET 161 1 3 0 4 4 4 2 7 2 2
30 @M 231 2 3 2 2 3 2 4 3 2 4
40 SRET 99 0 0 0 0 0 1 1 0 0 2
50 KET—T B 287 0 2 4 4 2 2 1 2 1 1
60 KET=TH 226 1 2 1 2 3 3 3 6 1 1
70 RET=TH 313 4 0 1 4 2 6 2 0 5 4
80 AT IEHET 83 1 0 4 2 3 0 2 1 1 2
90 FEHATIRAT 190 3 2 0 2 3 2 4 2 1 3
100 b ALET 114 0 1 0 1 2 1 1 3 0 4
110 T HT 1136 18 15 30 27 20 27 24 23 28 33
120 ¥X;TAHT 209 2 2 8 7 5 3 5 2 4 4
130 t&FHT 361 3 4 4 5 3 6 7 2 5 8
140 EH[E M7 11 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 308 5 7 1 7 6 10 5 5 4 6
9999 KB XEt 3873 40 42 55 69 59 70 62 58 60 74
510 AETHT B 402 2 2 3 3 3 2 4 1 5 7
520 HpEEMT 117 5 5 3 1 1 4 0 6 2 0
530 /\fEHET 228 2 1 0 3 0 2 1 1 1 3
540 15 HT 395 0 3 2 3 3 2 6 4 2 5
550 FithET 338 4 2 3 1 3 3 5 3 6 5
560 = ZLHT 83 1 0 0 1 0 0 0 0 0 0
570 EEHT 66 1 1 1 2 1 3 2 3 0 1
580 #rBHET 160 1 1 2 0 1 1 1 3 2 0
590 FriEMT 68 0 1 0 0 0 0 2 0 1 0
600 ZEARET 522 2 4 3 6 10 4 9 10 14 7
610 JEHT 173 0 1 2 1 4 1 2 2 1 7
620 FEBET—T B 0 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 8 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 2560 18 21 19 21 26 22 32 33 34 35
1010 X HT 166 0 1 2 2 0 3 1 0 5 4
1020 Lt FHT 276 4 3 5 12 5 4 10 7 10 2
1030 b HT 273 5 5 8 8 7 9 8 9 9 8
1040 75 K HT 472 8 15 10 10 11 13 12 15 10 8
1050 = HHET 620 11 18 9 10 10 15 11 9 15 13
1060 FH _EHT 537 8 15 16 17 11 24 21 9 12 11
1070 A7 R HET 661 15 8 14 8 17 7 11 17 9 13
1080 & HHET 374 6 10 7 6 7 4 6 5 8 8
1090 BHiEHT 522 7 8 10 10 8 12 10 12 12 12
1100 £ BEHT 538 5 12 10 14 15 14 13 16 15 14
1110 f21EHT 150 0 3 2 1 1 5 2 6 6 3
1120 #Z1E JCHT 78 0 1 0 0 0 0 0 1 1 1
1130 +5&HT 23 0 0 0 0 0 3 1 1 0 0
1140 Fk[RHET 16 0 0 1 1 0 0 1 0 0 0
1150 #/RET—T B 178 0 0 3 0 2 3 3 2 2 4
1160 #EET=TH 225 2 1 3 0 3 4 1 2 3 7
1170 ;& /KHET 168 1 1 0 1 1 1 1 2 1 2
1180 EE&FLHET 213 1 2 0 3 2 6 0 4 2 7
1190 ¥ F AHT 182 2 3 5 4 5 2 3 4 2 3
1200 XFHET—TH 130 0 0 0 3 1 1 1 2 2 1
1210 XFHEIZTH 170 0 1 3 0 3 2 3 1 4 2
1220 FrHT 145 3 0 2 2 1 0 0 0 2 1
1230 #XHET 164 0 0 1 3 1 4 0 3 2 4
1240 B EHT 139 0 1 0 0 2 0 3 3 3 1
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THRET(AF)a—K ITHET(KF)8 #HEH O 1M 2m 3 4% 5S% 6 7m 8 9

1250 fEEHET 153 0 3 3 2 1 2 1 1 1 2
1260 JEFh & 42 0 1 1 0 2 1 1 0 1 0
1270 EEHT 161 1 3 2 2 2 1 0 0 1 0
1280 FRAHET 164 0 0 1 0 0 1 1 2 1 4
1290 $RHET 199 0 1 1 1 0 0 5 2 4 3
1300 4 ZEHT 146 1 2 0 3 0 2 2 2 1 1
1310 R/ HT 76 1 1 2 0 1 1 0 0 0 0
9999 K HEMRXET 7361 81 119 121 123 119 144 132 137 144 139
1510 A& _E BT 626 11 10 9 11 6 16 13 13 14 13
1520 HEHTHET 616 5 3 6 7 9 6 9 11 7 7
1530 }EHTHT 319 4 4 6 5 2 7 4 6 6 6
1540 K{Z3FHT 520 4 7 6 9 10 7 8 6 8 5
9999 FEMNA: X 5 2081 24 24 27 32 27 36 34 36 35 31
2010 EE AT 194 1 1 4 1 4 1 7 2 3 5
2020 %= EFGHET 284 6 0 3 1 6 7 10 13 6 14
2030 E0HT 20 1 0 0 0 0 0 0 0 0 1
2040 :NET—TH 190 0 3 1 1 5 1 1 1 6 3
2050 BT =T B 187 1 3 1 3 4 3 2 3 1 3
2060 ¥g AT 36 0 0 0 0 0 0 0 0 0 0
2070 FxEBT—TH 225 2 1 4 6 5 7 6 10 4 8
2080 FRET—TH 187 3 3 4 2 3 2 3 0 3 2
2090 THiRAT 1576 13 18 17 16 17 22 23 30 271 17
2100 fhdLHT 224 7 4 4 4 8 4 6 2 6 9
2110 }EWIETET—T B 208 4 6 2 3 7 7 5 2 10 3
2120 HEMIFTETZT B 239 4 9 4 4 9 4 7 8 5 8
9999 £ ERXET 3570 42 48 44 A 68 58 70 71 71 73
2510 FAMEET 1897 35 40 45 30 31 43 39 45 49 52
2520 sk EeHT 1169 14 22 16 23 28 35 35 30 31 38
2530 = /INRHET 366 7 7 11 13 5 10 8 5 5 3
2540 FHi5HT 447 3 4 4 4 4 6 5 8 5 5
2550 ;HHET 214 1 5 6 2 1 3 1 3 7 9
2560 = SHT 880 10 6 15 11 16 13 16 9 22 9
2570 X &HT 83 0 0 0 1 0 1 0 1 0 2
9999 ME R X ET 5056 70 84 97 84 85 111 104 101 119 118
3010 KATHT 944 13 13 13 17 16 14 18 11 13 11
3020 ;BT HT 892 13 20 12 15 13 11 22 19 21 11
3030 L EFHT 694 7 12 16 7 14 23 15 22 12 20
3040 &S _LHET 134 2 0 0 1 1 0 2 2 2 2
3050 B AR ET 2085 65 60 54 41 63 62 51 53 50 47
3060 B THT 471 5 7 4 5 7 2 7 4 5 6
3070 wERERT 446 2 5 4 5 7 9 5 11 6 9
3080 H AT 362 7 5 8 7 11 9 20 13 18 13
3090 HHRERHAT 386 9 11 8 10 5 8 12 19 9 12
3100 EH R FEHET 512 3 8 10 8 12 9 9 10 8 4
3110 EedLAET 418 2 4 9 7 3 8 9 4 7 6
9999 /\FHERXET 7344 128 145 138 123 152 155 170 168 151 141
3510 27 _FHT 171 0 1 1 3 0 2 4 0 1 1
3520 &R T 339 3 3 4 3 5 6 2 3 6 7
3530 27 THT 909 8 19 13 19 21 19 26 23 26 30
3540 =B KHT 320 6 3 2 6 4 3 1 2 3 2
3550 AEFHT 748 7 9 10 12 8 14 7 9 16 8
3560 = T B HET 279 2 4 2 4 1 2 2 0 2 3
3570 & T AafT 792 13 16 13 13 12 12 10 15 12 11
3580 FLIFTHT 554 6 7 6 5 8 6 9 9 4 8
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3590 JEMT 16 0 0 0 0 0 0 1 0 0 0
9999 S HKXE 4128 45 62 51 65 59 64 62 61 70 70
4010 41| RET 302 1 1 2 0 2 2 5 3 2 5
4020 {E&HT 73 0 0 1 1 2 1 1 2 0 0
4030 5HT 191 2 1 4 3 1 2 0 5 2 1
4040 = HEAHT 176 3 1 5 5 2 3 2 2 7 1
4050 7K EHT 386 3 1 4 5 0 8 5 5 9 10
4060 E5Z HAT 347 3 4 5 4 10 3 6 5 4 3
4070 Jt[RHET 148 3 0 1 1 4 3 7 0 2 3
4080 =;I;HAfT 173 1 2 3 3 2 2 6 3 5 7
4090 FR ek HET 265 1 4 1 6 4 2 6 2 3 7
4100 g FEFOET 111 1 2 1 0 5 2 4 2 2 1
4110 JtEFnET 115 0 0 1 2 1 1 2 4 3 5
9999 2RI X st 2287 18 16 28 30 33 29 44 33 39 43
4510 EREE—ZEHT 758 10 5 3 5 4 3 2 6 5 9
4520 EREE — FHEHT 151 3 4 2 1 0 2 1 3 1 5
4530 EREE=ZEHT 182 1 3 2 1 2 3 6 3 7 4
4540 B} EErUZEET 168 3 2 3 2 3 2 4 1 3 2
4550 EREE FFHT 101 2 1 1 0 0 1 0 2 2 1
4560 AREE/EHET 75 0 1 0 0 1 1 2 4 0 3
4570 EREE-HZFHET 120 1 2 1 1 3 0 1 2 1 2
4580 AREE/\ZEHT 76 0 0 0 0 1 0 2 3 2 1
4590 EREE N FEHT 130 1 1 2 0 3 3 3 1 1 2
4600 EREE-+ZEHET 190 2 1 2 1 1 1 1 1 1 2
4610 EREE+—ZHT 174 4 2 2 2 3 2 1 2 3 0
4620 EREE+ —FHHT 293 4 12 5 4 4 3 3 3 1 2
9999 ERERXET 2418 31 34 23 17 25 21 26 31 27 33
5010 BRF0H £ HT 181 2 2 2 4 3 4 2 2 5 1
5020 FAF0BAEET 170 2 0 2 1 3 0 2 0 4 2
5030 FRFNREI{—HT 188 3 3 3 2 1 3 2 2 2 4
9999 RRFIRXET 539 7 5 7 7 7 7 6 4 11 7
5510 b RHET 203 1 0 4 2 4 7 0 7 5 3
5520 = AT 532 9 10 10 13 8 11 14 17 8 6
5530 75 = /T 474 9 7 5 6 5 3 7 8 5 8
5540 wy ZEmT 222 2 0 4 3 1 6 3 2 3 3
5550 EEHET 68 0 0 0 1 0 1 0 1 0 0
9999 =R X 5t 1499 21 17 23 25 18 28 24 35 21 20
6010 [EIHAT/MER 76 0 0 0 1 0 2 1 2 0 3
6020 [T 88 1 1 2 1 1 1 0 0 2 0
6030 FEIRT &I 89 0 0 2 1 0 0 1 0 2 3
6040 i3 JFMET 177 2 3 2 3 2 1 4 2 7 5
6050 JI| AETE 136 0 1 1 0 0 1 1 1 0 2
6060 JI|EHETF 94 0 2 3 2 5 0 0 4 0 1
9999 FEEMRXET 660 3 7 10 8 8 5 7 9 11 14
6510 H X A#EAHT 22 0 0 0 1 0 1 0 1 1 0
6520 HZEAKIEHET 169 1 1 2 1 3 1 1 2 1 2
6530 B E AFTHHET 95 1 0 0 1 1 0 1 1 1 0
6540 HZEALLTHET 155 0 1 1 1 0 0 1 2 3 0
6550 B E A Z NET 82 1 0 0 0 1 1 0 2 1 0
6560 HRAIEILHET 119 1 0 0 1 0 0 0 0 2 0
6570 A=A EgHT 144 0 1 1 1 1 0 0 0 0 0
6580 H&EAEHT 94 0 1 0 1 3 1 0 0 0 0
6590 HZ= ATHET 53 0 1 0 1 0 1 0 0 1 0
6600 B &= AT 83 1 0 0 0 1 1 2 0 1 2
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TBET(KF)a—K TEET(KF)E HMEH o

6610 HEA _LFEHT 44
6620 HZE AT 45
6630 HZE AT FGHET 92
6640 B &= A EitslT 35
6650 B ZASHET 1
6660 HZ A RLHET 51
9999 HEARKKXET 1284
7010 Z B MO E 144
7020 — R AHT 245
7030 = R IRHNET 95
7040 — BT KEFHET 182
7050 — R ¥y H I HET 93
9999 — R&XEt 759
8011 IRAETFEHERLY 57
8012 IR AHTFHERA 118
8013 YR AHTFEER (& 61
8021 IRAHTIZEKLY 76
8022 IRAHTIEKA 4
8023 IR AHTIEKIL 7
8031 YAHETH ALY 140
8032 IRAHTHA A 6
8033 FAHETH AL 13
8041 IR AHTELIRL 62
8042 IR AHTELIRA 25
8043 IR AHTELIR L 17
8044 IR AHTELIRIC 25
8045 YR ABTELIF T 46
8050 i AHTHRA 118
8060 IR AHTFT#E 96
8070 JRABTER 102
8080 Ik AHT &k 36
8090 IR AHTHEE 29
8100 JRAHBTH /1% 16
8110 IRAHTJII 5 36
8120 IR AHTER" 63
8130 IR AHTH L 63
8140 IRAHBTHFRKT 101
8150 IR ABTEFRK L 78
9999 AKX 5T 1395
9010 FTHTAKEH 533
9020 FTHTHEA 319
9030 +THTHEH 975
9040 FTHTHEIH 1127
9999 FT X5t 2954
9110 BET T HIE 474
9120 SFETH L 239
9130 $EHTH & 116
9140 SERT T4 345
9150 $RHT L§% 446
9160 SRETERHT 644
9170 $RETANH 853
9180 SEMETEE 538
9190 fRHETZ 0O 181

9200 $EHTEFIF 168
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9210 $EHET = H 303 3 3 3 4 6 6 5 5 2 8
9220 $EHT 7 H 486 10 10 6 15 12 13 11 13 12 10
9230 $EHTE M 576 3 7 11 7 14 15 10 8 15 12
9240 $EHETIEE 225 0 1 5 3 5 5 4 5 2 6
9250 % HT At #r b 463 5 5 5 8 6 9 12 6 9 8
9999 S XET 6057 64 75 86 109 104 124 113 112 122 149
9310 E[FHET:AR 177 1 1 2 1 0 2 1 1 2 0
9320 H[SHETIL 185 1 3 2 1 4 0 1 1 3 1
9330 R[ZHET/INE 127 3 2 0 2 1 1 1 1 1 1
9340 R [ZHTR 328 3 2 4 5 3 6 4 6 5 5
9999 R[GHXET 817 8 8 8 9 8 9 7 9 11 7
9410 RETT & 293 0 0 3 1 2 3 2 3 4 3
9420 RHETHHE 204 0 0 0 0 1 0 0 0 1 1
9430 RETFER 135 0 0 0 0 1 1 0 0 1 0
9440 RETAEF 12 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 21 0 0 0 0 0 0 0 0 1 0
9460 RET{—_HE 27 0 0 0 0 0 0 0 0 0 0
9470 RETEXR 6 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 46 1 1 0 0 0 0 1 0 0 1
9999 RIXXEt 744 1 1 3 1 4 4 3 3 7 5
99999 &t 57386 661 782 800 855 886 978 999 991 1034 1042
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

10 HAT 2 2 2 1 0 2 1 2 3 2
20 fE&LET 9 7 2 3 3 3 3 6 0 4
30 @M 3 8 4 2 3 2 4 4 1 4
40 SRET 1 0 1 1 2 2 2 1 0 1
50 KET—T B 3 3 2 2 3 0 2 4 1 4
60 KET=TH 7 1 3 3 4 0 4 1 3 3
70 RET=TH 2 5 5 3 5 6 3 5 8 3
80 AT IEHET 1 1 0 1 0 0 0 0 1 1
90 FEHNT IR AT 4 3 3 2 4 4 1 1 0 2
100 b ALET 1 2 3 4 3 2 2 3 3 2
110 T HT 33 25 35 28 26 31 26 25 25 27
120 ;T AHT 4 3 5 3 4 8 4 5 6 7
130 t&FHT 4 5 10 2 4 9 11 6 6 9
140 EH[E M7 0 1 0 0 1 0 2 0 3 1
150 1 FFrHET 4 4 5 8 5 3 6 9 8 5
9999 KB XEt 78 70 80 63 67 72 71 72 68 75
510 AETHT B 1 3 2 6 10 7 8 5 6 6
520 HpEEMT 3 4 1 2 6 4 3 3 4 6
530 J\It&HET 2 5 3 6 3 3 5 2 3 2
540 15 HT 1 2 6 5 10 5 4 7 8 9
550 FithET 9 5 4 6 5 10 11 7 10 12
560 = ZLHT 0 0 1 0 1 0 2 0 0 0
570 EEHT 0 1 1 1 2 2 1 2 1 1
580 #rBHET 1 0 2 0 1 2 2 2 0 2
590 FriEMT 0 0 0 0 0 0 0 0 0 0
600 ZEARET 13 20 14 8 19 8 18 8 6 6
610 JEHT 1 4 1 2 1 3 3 2 2 2
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 31 44 35 36 58 44 57 38 40 46
1010 R HHT 2 3 1 4 4 2 5 4 2 0
1020 Lt FHT 4 5 8 6 9 6 5 6 5 4
1030 = T HT 7 10 10 11 5 5 10 15 7 7
1040 75 K HT 8 7 10 12 11 11 6 13 9 11
1050 = HHET 15 17 16 13 11 18 10 14 18 7
1060 FH _EHT 10 13 11 8 21 6 18 16 7 9
1070 A7 R HET 13 18 9 16 12 16 13 10 12 15
1080 & HHET 11 4 9 5 6 8 7 6 9 6
1090 BHiEHT 14 9 5 11 17 7 6 12 9 11
1100 £ BEHT 10 18 15 17 18 13 12 9 11 16
1110 f21EHT 1 6 2 5 1 3 1 4 1 3
1120 #Z1E JCHT 0 1 2 1 0 1 2 0 0 3
1130 +4HT 1 0 0 0 0 1 0 1 0 0
1140 Fk[RHET 1 1 0 0 1 0 0 0 0 0
1150 #/RET—T B 3 3 2 3 0 2 2 3 3 4
1160 #EET=TH 4 1 4 1 2 1 4 3 4 1
1170 ;B/KHET 3 4 1 4 3 2 4 1 2 1
1180 EE&FLHET 3 5 2 2 3 3 2 2 4 1
1190 ##F AHT 2 2 3 1 1 3 3 4 5 3
1200 XFHET—TH 1 1 2 0 2 2 0 3 1 3
1210 XFHEIZTH 4 0 2 5 6 4 4 1 2 3
1220 FrHT 3 4 5 1 2 3 2 4 3 4
1230 #xKHET 1 3 0 1 3 0 1 3 3 4
1240 B EHT 4 1 0 5 1 2 2 2 0 3
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

1250 fEEHET 2 1 4 2 0 1 5 1 1 4
1260 B & 0 0 0 0 0 0 0 1 0 0
1270 EEHT 0 0 1 0 2 1 2 0 1 1
1280 FRAHET 3 1 3 1 3 3 2 2 2 5
1290 $RHET 3 2 2 2 3 1 3 0 5 1
1300 & EEHT 2 1 2 1 2 2 2 2 1 0
1310 RJLHET 0 0 0 1 1 0 2 0 0 1
9999 K HEMRXET 135 141 131 139 150 127 135 142 127 131
1510 A& _E BT 11 19 11 16 15 20 16 15 15 14
1520 HEHTHET 13 13 8 13 14 20 10 15 8 15
1530 }EHTHT 5 7 4 5 9 4 2 5 7 2
1540 K4EFHT 10 10 6 13 10 4 9 7 10 5
9999 FEMNA: X 5 39 49 29 47 48 48 37 42 40 36
2010 EE AT 3 6 2 9 5 6 5 6 3 3
2020 % E gl 5 6 7 6 3 4 7 6 8 6
2030 E0HT 0 0 0 1 0 0 0 2 0 0
2040 ;ET—T H 5 2 6 2 3 5 3 6 7 4
2050 BT =T B 1 3 4 3 3 0 4 3 3 7
2060 ¥g AT 0 0 0 1 1 1 2 1 0 2
2070 FxEBT—TH 2 5 2 2 4 1 5 3 6 2
2080 FRET—TH 7 0 4 4 0 3 2 5 6 1
2090 THiRAT 31 34 27 35 30 44 28 29 27 24
2100 fhdLHT 3 5 5 5 9 2 5 2 3 5
2110 }EWIETET—T B 3 4 2 2 1 2 5 6 3 8
2120 HEMIFTETZT B 9 7 6 8 8 2 9 5 3 3
9999 £ ERXET 69 72 65 78 67 70 75 74 69 65
2510 FAMEET 45 59 58 56 73 68 63 64 59 42
2520 sk EeHT 36 28 27 41 28 28 26 36 21 35
2530 = /INRHET 5 9 2 8 7 10 7 6 10 5
2540 FHi5HT 6 4 4 7 4 1 6 4 7 5
2550 ;HHET 9 5 2 2 1 2 2 3 2 6
2560 = SHT 18 20 19 18 23 13 15 20 15 21
2570 K EHT 3 1 0 3 1 4 3 1 1 0
9999 ME R X ET 122 126 112 135 137 126 122 134 115 114
3010 X#FHET 15 16 25 19 14 15 23 20 17 19
3020 ;BT HT 15 20 14 20 14 19 22 17 24 19
3030 L EFHT 14 16 17 11 18 19 13 15 16 13
3040 &S _LHET 2 1 1 0 2 2 2 1 1 2
3050 THESHHT 52 42 47 50 48 57 37 50 48 37
3060 B THT 6 6 5 5 13 3 9 9 4 4
3070 HEAEAT 8 9 7 3 9 7 9 9 3 14
3080 H hHT 16 19 1 9 8 8 9 7 9 6
3090 H A E AT 13 14 7 14 8 10 9 8 9 8
3100 EH R FEHET 7 11 5 5 11 7 9 7 5 5
3110 EHAILHET 5 3 11 4 6 11 8 6 5 5
9999 /\FHERXET 153 157 150 140 151 158 150 149 141 132
3510 27 _FHT 3 2 0 2 0 1 0 2 5 1
3520 £ R chfT 3 5 5 5 5 4 4 7 8 4
3530 &R THT 18 13 25 6 22 18 14 13 19 10
3540 =B KHT 7 4 8 6 4 8 4 6 9 6
3550 AEFHT 14 13 12 8 13 15 9 14 10 14
3560 = T B HET 6 2 4 4 2 6 5 6 5 4
3570 = T AT 9 10 7 11 13 11 7 6 13 10
3580 FLIFTHT 10 4 8 6 9 6 9 5 7 14



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH

(R4.10.31 IR JATERET & (K=F) Bl SFn il A Ot 52 (55

THRET(KF)3—F {THRET(KF)& 10
3590 EHT
9999 EHEKXET 7
4010 41| NHET 1
4020 {E&HT
4030 5HT
4040 = HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET 3
5010 BRF0H £ HT
5020 FAF0BAEET
5030 FRFNREI{—HT
9999 AFIAXET 1
5510 b RHET
5520 = HhHET 1
5530 FA=EHT
5540 wy ZEmT
5550 ERHT
9999 =R X 5t 2
6010 [EHT/NEE
6020 [EHT 4
6030 [EET &I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 BEERXET
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT
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9999 FEMNA: X 5 46 45 24 33 35 57 43 35 45 35
2010 EE AT 3 0 5 5 3 1 4 5 3 7
2020 % EFGHT 2 3 7 7 5 5 6 8 9 7
2030 E0HT 0 1 1 0 2 0 0 0 0 0
2040 ;ET—T H 2 6 2 4 1 5 6 3 2 6
2050 BT =T B 2 4 0 2 0 4 5 4 7 4
2060 ¥g AT 1 0 1 0 0 0 2 0 1 0
2070 FxEBT—TH 0 5 2 10 5 5 6 6 6 5
2080 FRET—TH 2 2 5 2 1 8 2 4 0 5
2090 THiRAT 26 35 18 28 28 23 33 25 31 32
2100 fhdLHT 5 4 4 8 7 7 9 6 4 6
2110 }EWIETET—T B 3 5 7 3 5 4 5 5 5 7
2120 HEMIFTETZT B 6 1 5 5 6 5 5 2 2 13
9999 £ ERXET 52 66 57 74 63 67 83 68 70 92
2510 FAMEET 33 38 41 45 51 61 54 54 43 37
2520 sk EeHT 13 22 25 32 25 30 25 26 47 36
2530 = /INRHET 10 9 6 12 14 12 8 8 10 3
2540 FHi5HT 4 7 4 8 8 11 5 5 7 3
2550 ;HHET 4 4 6 5 8 7 4 2 6 5
2560 = SHT 10 17 11 9 22 20 17 10 25 20
2570 K EHT 1 1 1 0 0 0 0 1 0 2
9999 ME R X ET 75 98 94 111 128 141 113 106 138 106
3010 X#FHET 15 13 13 17 19 10 25 22 20 18
3020 ;BT HT 23 25 14 13 19 26 24 36 23 20
3030 _EFHET 11 11 18 15 14 17 17 22 14 16
3040 &S _LHET 0 2 1 2 1 3 1 1 4 4
3050 R AT 65 51 40 55 61 52 69 68 82 64
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13 7 6 12 7 8
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3100 EH R FEHET 13 14 14 10 12 12 9 18 14 14
3110 EHeRILHET 8 11 14 11 6 6 6 10 6 8
9999 /\FHERXET 172 152 146 158 175 176 185 218 203 187
3510 £[R AT 2 3 1 2 1 4 2 1 2 5
3520 £ R chfT 5 5 3 8 1 7 8 7 5 5
3530 27 THT 23 21 22 20 25 20 19 19 25 22
3540 =B KHT 6 3 3 4 6 3 3 5 2 4
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9210 $EHET = H 5 8 6 6 6 5 10 4 8 8
9220 SxETHH 8 7 14 8 10 10 10 8 11 16
9230 SXET B M 13 12 11 13 16 16 19 13 16 13
9240 $EHETIEE 5 3 6 6 5 7 4 5 7 6
9250 % HT At #r b 11 14 14 21 17 17 6 12 21 16
9999 S XET 112 117 117 122 129 123 132 126 154 158
9310 E[FHET:AR 1 0 2 2 0 2 1 2 1 1
9320 H[SHETIL 1 4 1 1 0 3 1 3 3 2
9330 H[SHET/INE 2 0 0 2 2 6 3 1 2 1
9340 R [ZHTR 2 4 3 4 3 5 7 10 5 7
9999 H[G#HXET 6 8 6 9 5 16 12 16 11 11
9410 RETT & 2 3 2 4 4 6 4 6 6 6
9420 RHETHHE 1 0 3 1 0 2 2 1 3 2
9430 RETFER 1 0 1 0 2 0 2 1 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 1 1 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 1 0 0 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 0 0 0 0 1 0 0 1
9999 RIXXEt 5 4 7 6 6 8 9 8 9 9
99999 &t 1069 1048 1054 1090 1173 1210 1229 1265 1307 1294
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THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

10 HAT 4 1 2 4 3 4 6 6 3 3
20 fE&LET 4 6 4 4 9 3 4 4 1 3
30 @M 3 3 4 3 6 4 3 4 4 5
40 SRET 0 1 1 2 1 2 1 4 6 2
50 KET—T B 8 0 1 3 3 3 1 7 3 7
60 KET=TH 6 4 11 7 5 9 5 7 7 7
70 RET=TH 6 4 6 3 8 6 5 9 4 8
80 AT IEHET 2 1 3 1 2 4 3 2 2 0
90 PN I ET 4 2 2 1 4 5 5 3 5 6
100 b ALET 1 5 3 2 3 6 3 5 5 4
110 T HT 32 27 35 23 35 34 49 37 43 40
120 ¥A;TAHT 4 7 5 8 9 7 6 7 10 9
130 #&FHT 8 5 6 9 13 12 10 15 8 18
140 EH[E M7 0 0 0 0 0 2 0 0 0 0
150 1 FFrHET 10 11 11 9 9 11 9 11 10 10
9999 KB XEt 92 77 94 79 110 112 110 121 111 122
510 AETHT B 7 9 7 10 12 13 8 10 12 10
520 HpEEMT 3 5 1 3 1 4 2 9 11 5
530 /\F&EHET 3 2 2 8 6 5 2 7 5 6
540 15 HT 12 8 9 6 16 10 12 8 10 20
550 FithET 5 9 6 6 4 13 7 15 12 12
560 = ZLHT 1 3 2 2 0 1 5 2 1 1
570 & EHT 1 3 0 1 2 2 2 2 1 2
580 #rBHET 2 2 3 3 2 2 4 4 4 6
590 #7;EHT 1 1 1 1 1 0 0 0 1 0
600 ZEARET 12 10 9 18 12 12 9 16 9 14
610 &M 7 3 4 3 8 4 5 4 3 5
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 1 1 0 0 0 0 1 0 0
9999 J\ KXt 54 56 45 61 64 66 56 78 69 81
1010 R HT 8 5 4 4 2 3 1 5 7 6
1020 Lt FHT 9 8 6 10 13 11 11 5 5 10
1030 5 FHT 8 6 14 10 15 13 9 12 11 7
1040 75 K HT 15 11 6 12 9 12 3 6 14 15
1050 = HHET 23 18 12 16 24 19 19 15 18 20
1060 FH _EHT 11 21 13 17 19 18 20 10 16 22
1070 A7 R HET 10 14 14 20 19 14 13 22 15 12
1080 & HHET 8 10 7 7 7 7 15 7 17 6
1090 Hi&Hr 8 13 14 8 13 17 13 14 15 10
1100 L BiEHT 16 15 17 13 17 10 25 21 15 10
1110 f21EHT 1 2 5 3 1 5 5 2 5 0
1120 #Z1E JCHT 1 1 1 1 2 3 0 1 2 0
1130 +4<HT 1 0 0 0 0 2 0 2 0 0
1140 Fk[RHET 1 0 1 0 0 0 0 1 0 0
1150 #/RET—T B 6 3 2 4 6 2 4 3 7 3
1160 #EET=TH 3 5 8 3 4 3 5 4 6 9
1170 ;B/KHET 7 3 2 5 9 4 5 2 4 6
1180 EE&FLHET 4 2 4 5 6 5 4 4 8 4
1190 #&FARHT 5 1 5 3 4 4 4 2 7 8
1200 XFHET—TH 3 3 1 2 3 6 0 4 3 4
1210 XFHEIZTH 6 3 2 6 3 3 7 7 3 3
1220 FrHT 1 3 5 1 2 8 2 5 2 6
1230 #xKHET 2 4 4 3 4 3 4 2 2 2
1240 B EHT 1 3 2 4 2 2 3 4 4 7
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TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

1250 fEEHET 6 3 3 4 3 2 3 1 1 6
1260 B R I& 1 1 2 0 1 0 0 0 2 0
1270 EEHT 2 3 1 3 2 2 7 4 6 2
1280 FRAHET 2 1 5 4 1 7 3 3 2 6
1290 $RHET 6 5 4 4 6 3 5 10 9 4
1300 & EEHT 5 1 3 3 2 4 1 6 2 0
1310 RILGHET 1 1 1 1 1 2 1 1 0 3
9999 K HEMRXET 181 169 168 176 200 194 192 185 208 191
1510 A& _E BT 4 13 16 19 24 23 11 21 16 22
1520 HEHTHET 12 19 13 23 16 12 22 29 21 16
1530 HEHITHET 4 5 2 4 5 10 5 8 10 10
1540 K4EFHT 9 9 12 14 10 10 13 12 17 19
9999 FEMNA: X 5 29 46 43 60 55 55 51 70 64 67
2010 EE AT 5 4 5 6 9 5 7 6 5 3
2020 %= EFGHET 16 5 2 6 11 9 9 10 5 13
2030 AT 0 0 0 0 0 0 0 0 2 1
2040 ;ET—T H 3 2 3 3 4 3 5 9 6 5
2050 BT =T B 5 6 5 4 4 2 4 6 2 8
2060 gt ET 1 1 1 2 1 2 3 1 0 1
2070 FxEBT—TH 5 6 4 9 3 4 2 2 2 4
2080 FRET—TH 5 3 4 4 5 5 7 4 3 7
2090 THiRAT 47 49 40 30 32 45 40 38 47 42
2100 hiLHET 7 10 5 11 15 7 1 7 5 7
2110 }EWIETET—T B 0 6 7 3 8 5 6 7 7 5
2120 HEMIFTETZT B 5 9 9 8 9 10 7 7 8 8
9999 £ ERXET 99 101 85 86 101 97 101 97 92 104
2510 FAMEET 48 53 58 72 63 56 78 78 71 58
2520 sk EeHT 32 43 31 42 41 39 46 39 34 37
2530 = /INRHET 10 6 13 6 5 9 2 4 11 12
2540 FHi5HT 6 9 5 12 8 9 6 11 5 12
2550 ;HHET 9 1 4 5 4 6 7 4 4 2
2560 = SHT 21 32 17 20 24 15 30 25 23 27
2570 K EHT 1 3 1 5 5 3 1 3 2 2
9999 ME R X ET 127 147 129 162 150 137 170 164 150 150
3010 X#FHET 23 31 26 36 19 30 27 24 38 26
3020 ;BT HT 26 23 21 14 25 26 31 29 29 40
3030 L EFHT 18 19 17 20 17 28 25 23 26 22
3040 &S _LHET 3 1 0 2 4 4 2 4 3 5
3050 B AR ET 68 71 58 57 42 56 66 71 59 69
3060 BN THET 15 15 8 11 6 12 8 9 8 9
3070 HEAEAT 12 12 8 12 6 13 16 15 14 11
3080 H AT 12 17 9 7 13 13 9 10 15 14
3090 HHEHT 10 14 13 13 15 10 14 12 12 11
3100 EH R FEHET 10 13 11 8 7 17 14 12 14 14
3110 A ILET 13 5 10 10 8 9 1 14 13 16
9999 /\FHERXET 210 221 181 190 162 218 223 223 231 237
3510 2R LHT 1 1 1 3 2 2 1 7 7 6
3520 £ R chfT 5 10 1 7 4 10 5 9 10 12
3530 27 THT 30 30 28 20 23 16 11 27 32 21
3540 =B KHT 0 4 12 7 8 12 12 7 11 13
3550 AEFHT 12 16 21 21 23 23 26 13 24 21
3560 = T B HET 3 5 8 3 4 7 4 5 8 14
3570 = T AT 19 15 18 14 17 14 12 23 18 15

3580 ¢ LLITHT 9 15 12 9 8 15 17 18 14 14
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9210 $EHET = H 7 7 2 8 8 10 15 8 6 13
9220 SxETHH 6 10 10 9 19 13 16 14 15 13
9230 $EHTE M 9 15 22 21 18 15 9 10 10 20
9240 $EHETIEE 6 3 5 5 8 4 7 4 6 4
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9999 S XET 154 158 156 174 163 157 169 150 166 168
9310 E[FHET:AR 0 2 1 5 4 5 3 4 3 4
9320 H[SHETIL 2 4 4 5 3 2 4 6 6 5
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9430 RETFER 2 0 0 0 1 3 1 1 1 1
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9450 RHETHER 0 0 0 1 0 0 1 0 0 0
9460 RET{—_HE 0 1 0 0 1 0 0 1 1 0
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEHET 7 5 3 3 3 4 5 1 4 6
1260 JEFh & 1 1 0 1 0 0 0 1 0 4
1270 EEHT 3 4 3 0 3 2 2 0 4 3
1280 FRAHET 9 6 4 4 6 1 2 3 8 4
1290 $RHT 3 3 5 5 4 5 6 3 5 4
1300 & EEHT 2 4 2 4 1 2 3 6 4 4
1310 RILGHET 2 2 2 2 3 6 0 2 3 2
9999 K HEMRXET 187 197 204 200 188 203 150 205 200 191
1510 A& _E BT 18 16 17 22 12 19 10 29 24 15
1520 HEHTHET 20 20 17 16 19 17 16 22 12 13
1530 }EHTHT 13 5 2 6 7 11 5 9 9 8
1540 K4EFHT 14 10 16 18 12 16 9 10 17 14
9999 FEMNA: X 5 65 51 52 62 50 63 40 70 62 50
2010 EE AT 3 7 5 8 4 11 4 5 4 3
2020 % E gl 9 10 9 7 8 10 6 6 3 5
2030 E0HT 0 0 0 1 0 0 0 0 0 0
2040 ;ET—T H 8 4 13 8 4 4 4 10 7 5
2050 BT =T B 3 3 5 6 4 12 2 7 2 4
2060 ¥g AT 0 0 1 1 0 0 0 2 0 1
2070 FxEBT—TH 9 10 4 5 13 2 6 6 7 5
2080 FRET—TH 5 4 5 7 5 7 4 2 8 2
2090 THiRAT 44 42 46 34 34 37 33 42 37 27
2100 fhdLHT 6 5 9 4 5 4 4 4 6 7
2110 }EWIETET—T B 6 6 5 7 11 7 6 10 10 8
2120 HEMIFTETZT B 4 12 16 5 6 4 6 6 7 13
9999 £ ERXET 97 103 118 93 94 98 75 100 91 80
2510 FAMEET 63 69 60 43 46 68 34 50 48 45
2520 sk EeHT 39 37 32 45 50 43 34 40 38 32
2530 = /INRHET 12 9 11 16 10 14 12 9 11 7
2540 FHi5HT 8 14 7 17 9 7 11 12 16 10
2550 ;HHET 3 8 1 5 5 9 11 6 4 7
2560 = SHT 19 35 14 27 21 20 25 29 22 15
2570 K EH/T 1 0 2 2 0 3 0 0 2 0
9999 ME R X ET 145 172 127 155 141 164 127 146 141 116
3010 X#FHET 22 16 26 23 25 25 24 21 24 25
3020 ;BT HT 27 35 26 22 32 30 20 31 19 26
3030 L EFHT 28 36 23 23 21 31 18 27 25 25
3040 &S _LHET 1 4 7 8 3 10 1 2 6 2
3050 THESHHT 55 63 49 60 57 61 55 77 48 68
3060 B THT 12 9 16 14 9 10 14 21 9 15
3070 wERERT 8 8 15 16 14 14 6 17 10 11
3080 H AT 12 16 5 15 8 9 5 8 13 6
3090 H A E AT 14 8 15 8 7 14 3 8 7 6
3100 EH R FEHET 17 17 12 12 12 13 17 7 17 16
3110 EHAILHET 6 11 8 7 13 10 7 16 1 13
9999 /\FHERXET 202 223 202 208 201 227 170 235 189 213
3510 27 _FHT 3 1 1 2 4 8 3 5 17 11
3520 £ R chfT 4 11 13 11 9 10 9 8 7 9
3530 27 THT 36 33 29 30 15 27 21 26 24 32
3540 =B KHT 14 9 11 7 10 16 3 17 11 7
3550 AEFHT 16 13 13 14 22 21 23 21 20 18
3560 = T B HET 5 6 8 5 5 7 8 4 1 8
3570 & T AafT 25 18 23 16 24 26 19 15 16 18

3580 ¢ LLITHT 18 16 12 18 10 15 14 12 15 1



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH
(R4.10.31 IR JATERET & (K=F) Bl SFn il A Ot 52 (55

517 52i%

TIRET(XF)a—K {THHET(KF)& 508

3590 JEMT 0
9999 S HKXE 121
4010 EJ1IQHT 13
4020 {E&HT 1
4030 15HT 6
4040 S HEAHT

4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET

9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET 1
6510 B &= A#GHET

6520 HZEAKIEHET

6530 B E AFTHHET

6540 HERALLTHT

6550 B E A Z NET
6560 HRAIEILHET

6570 B EALERIHET

6580 HZAEHRT

6590 HZ= ATHET

6600 B &= AT

—_

B — Ol

oCwhrrvvuoObhAdPP,WObDPDOoO—LOWNM-TDNYNON-="TDNYINDMOOONDN

—_ —_

S
o

—_ = = N W= DNOW—-Ohhwo —ON

10

—

O = = NO -0 = 2000 P~POON—-N—-0—-WOOOONPIPLEADMOONNOW—ONOGOGGQWNDNWNIJOODOIOWOWOOWOO h~h © 0 —

—_—

11

- O

O OO0 WNOCGUUMNONDDDPDO—LONWOOO—-=DNN—-DPIPRPRWOOWAN—-OCG = PPOWUMNWWWOMNNMN—OTCWO-—=0O0O0O0UuOoOG OO

—_

53 54i%

10

—_—

-~

OMNNAEAN--DNNP,LPJLTLWCLON—LO " DOoOCOMNMNNTOOO—- = WW—-AN~A=2= 0, b0, DDadpLhwoowo

9
1

—_ -

-

($)]
NN OCTWNWWP,APOONDIDOUOW—-=CITOOOONONOOUIN ©OWWNOUWODPRWWPA,OTOGONDMNOOWN-—=PIMOOOLNO OO

55i% 567%

—_
w

N O —
— W WO PRON—-DNOW—- PN~ 0NSOODOWPNMONDIMOO

g

(&)

(3] —_ = = —_
N = OO H» © 0

NO == WWa-—-=NN-=-NMO P

0
100

- O

N = = A NNOWOOOUI—= U NN, - O - P 20 DPAOODWUN—-OOODOWNO—=-==DN—-Da0a—= WO W WNO0O©h —=-5n

57 58i%

10

—_

- o

a
WONOWNNELTN-ADNAdLWWAONW - NNDPPOYIPRL, 00 OO WWNOWWPEAN—--O0OOO O -NNdPAPONdINdNPLWOO OO

—_—

11

N O1

- = ONPPODAANPMPOON—-"PPWON—-_"DPdPPOLOUOOO—-="POOOOUTGOMNMNNMN—=W-NOOMNdOWOLAAPEAPPRLCOW-~-ADN—-=-DNW-—-O

—_

59i%
1
115
11
0

(&)

u—y

- o

[3,
ONW-DNNJOOAaA—-=-N—-ONPDPDON—-O©JOODNPIMO

—_ - -
oD O oo W

N

O P, OAN—-—=-0O0ODPDONOOJNJONOW—O



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH
(R4.10.31 IR JATERET & (K=F) Bl SFn il A Ot 52 (55

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
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8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
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8150 IR AHBTEFRK L 2 2 1 1 2 2
9999 AKX 5T 18 2 21 26 23 23 26 43 29 27
9010 +THTAKEH 13 21 14 12 10 17 14 20 14
9020 FTHTHEA 11 7 12 16 8 10 8 7 13 10
9030 +THTH & H 39 30 20 28 27 33 18 27 30 30
9040 FTHTHEIH 47 30 36 41 34 48 27 31 43 35
9999 FT#XEt 110 76 89 99 81 101 70 79 106 89
9110 SRETTTH & 16 20 14 16 17 12 12 12 15 19
9120 SFETH L 6 3 4 4 6 4 9 7 11 6
9130 FFEETH B 1 3 6 3 2 6 6 3 1 8
9140 $RAT T4 8 10 9 10 8 9 9 12 7 7
9150 $EHT L 45 15 13 11 12 17 13 11 9 10 9
9160 SRETERHT 16 16 16 16 14 26 24 18 21 16
9170 $RATNEA 20 19 28 20 16 19 20 26 24 24
9180 #RHTEE 10 13 12 18 5 19 14 17 12 17
9190 $ERTZ O 4 4 4 3 1 9 4 4 3 3

9200 $EHTEFIF 2 5 3 5 4 6 6 5 5 5
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9210 SFET=EH 10 13 8 11 17 13 8 5 10 7
9220 $EHT 7 H 16 11 12 15 17 12 11 17 13 16
9230 SXET B M 17 16 11 12 11 22 10 17 22 16
9240 $EHETIEE 5 1 7 8 6 9 5 11 10 11
9250 % HT At #r b 11 16 13 9 14 8 9 9 17 18
9999 S XET 157 163 158 162 155 187 158 172 181 182
9310 E[FHET:AR 6 4 2 1 3 3 7 3 4 8
9320 H[SHETIL 4 4 7 6 3 6 6 6 9 8
9330 R[ZHET/INE 4 0 3 2 6 2 3 1 10 1
9340 R [ZHTR 6 5 11 4 8 13 6 17 19 9
9999 WG XET 20 13 23 13 20 24 22 27 42 26
9410 RET T & 7 6 5 7 6 10 12 11 9 9
9420 RHETHHE 3 4 6 6 4 3 3 4 4 6
9430 RETFER 2 2 4 2 5 5 3 3 4 2
9440 RETAEF 0 0 0 0 0 1 0 1 0 2
9450 RHETHER 0 0 0 0 0 0 0 2 0 0
9460 RET{—_HE 1 1 0 0 0 1 0 2 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 1
9480 RHETHER 5 0 2 1 2 0 1 2 4 3
9999 RIXXEt 18 13 17 16 17 20 19 25 21 23

99999 H&&Et 1541 1534 1512 1522 1482 1659 1267 1623 1582 1520
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TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
10 HAT 2 5 3 7 4 2 5 1 4 4
20 fE&LET 3 1 3 3 7 4 7 4 7 7
30 @M 7 2 6 7 10 2 4 2 5 8
40 SRET 3 3 4 1 2 3 3 3 7 2
50 KET—T B 5 5 9 3 5 10 10 5 8 6
60 KET=TH 4 5 2 1 2 4 6 5 1 5
70 RET=TH 6 5 9 11 5 4 4 6 7 9
80 AT IEHET 5 0 3 1 0 3 5 1 4 1
90 FEHATIRAT 7 2 10 0 5 3 8 5 8 3
100 b ALET 3 1 9 2 5 2 4 5 9 3
110 T HT 30 28 31 30 27 40 30 29 31 44
120 ;T AHT 4 5 2 4 7 3 8 5 1 8
130 t&FHT 7 9 11 8 6 12 11 9 7 7
140 HE[EHT 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 5 5 8 9 2 9 7 7 3 9
9999 KB XEt 91 76 10 87 87 101 12 87 02 116
510 AETHT B 6 7 14 10 8 7 13 14 13 10
520 HpEEMT 1 5 7 2 2 3 6 3 3 2
530 J\It&HET 5 5 6 8 7 4 4 6 6 6
540 15 HT 8 9 10 10 8 7 7 12 9 15
550 FithET 8 8 4 14 12 9 13 10 8 9
560 = ZLHT 3 0 1 0 0 2 2 4 3 3
570 EEHT 1 0 0 3 1 1 4 2 3 3
580 HrhHET 4 3 3 4 4 4 3 3 4 3
590 FriEMT 2 2 1 1 2 0 3 0 1 3
600 ZEARET 18 14 18 20 18 24 22 34 25 27
610 JEHT 2 6 3 13 3 7 8 6 3 7
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 58 59 67 85 65 68 85 94 78 88
1010 X HT 11 3 8 4 7 2 4 10 5 3
1020 Lt FHT 7 7 10 4 10 6 12 8 15 12
1030 = T HT 14 3 11 3 9 12 8 9 7 9
1040 78 HT 22 15 10 23 9 18 16 17 15 11
1050 = HHET 25 15 20 14 14 17 17 22 14 16
1060 FH _EHT 13 14 12 23 16 18 16 16 16 5
1070 A7 R HET 18 19 17 15 21 15 9 15 16 15
1080 & HHET 12 15 11 5 9 8 9 10 8 14
1090 Hi&Hr 14 16 20 24 13 12 17 17 17 26
1100 £ BEHT 17 8 12 18 16 10 16 14 17 25
1110 f21EHT 4 1 2 3 7 3 2 7 6 3
1120 #Z1E JCHT 0 3 5 2 4 2 4 0 4 2
1130 +5&HT 0 0 2 0 1 0 1 0 2 0
1140 Fk[RHET 0 0 1 0 1 0 0 0 0 0
1150 #/RET—T B 9 6 4 4 5 7 5 7 4 4
1160 #EET=TH 11 10 6 10 3 7 7 4 8 7
1170 ;B/KHET 3 3 3 2 5 4 3 1 5 3
1180 EE&FLHET 9 6 6 7 8 6 4 6 5 4
1190 ¥ F AHT 3 5 4 6 2 4 5 6 3 8
1200 XFHET—TH 2 3 6 3 4 3 3 2 2 2
1210 XFHEIZTH 3 3 4 5 8 4 8 5 3 6
1220 FrHT 2 4 5 1 2 1 7 5 1 8
1230 #xKHET 3 5 7 9 8 5 6 2 4 5
1240 B EHT 4 3 3 2 4 1 5 4 0 2



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH
(R4.10.31 IR JATERET & (K=F) Bl SFn il A Ot 52 (55

TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
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1520 HEHTHET 16 23 22 22 15 20 20 23 24 22
1530 }EHTHT 5 8 10 9 13 15 7 12 11 8
1540 K4EFHT 7 12 22 10 18 20 16 17 27 16
9999 FEMNA: X 5 43 60 68 60 67 76 63 69 85 68
2010 EE AT 3 7 6 3 1 1 10 4 1 4
2020 % EFGHT 9 5 5 7 5 8 5 7 8 6
2030 E0HT 1 0 0 0 3 5 1 1 0 0
2040 :NET—TH 5 5 5 5 5 7 2 4 4 1
2050 BT =T H 1 4 6 1 4 3 7 5 4 7
2060 ¥g AT 0 2 2 1 1 3 2 2 2 3
2070 FxEBT—TH 6 6 11 9 9 5 9 8 7 4
2080 FRET—TH 5 8 4 2 1 7 5 8 6 2
2090 THiRAT 42 46 50 34 45 52 59 58 52 66
2100 fhdLHT 5 3 4 8 4 4 6 13 6 11
2110 }EWIETET—T B 8 8 5 5 6 3 3 8 9 13
2120 HEMIFTETZT B 8 3 2 11 13 8 6 13 13 7
9999 £ ERXET 93 97 100 86 97 106 115 131 112 124
2510 FAMEET 66 50 45 66 58 45 50 51 50 53
2520 sk EeHT 33 35 34 51 41 40 45 28 42 31
2530 = /INRHET 14 10 16 13 10 7 9 11 15 12
2540 Fi5HT 17 18 7 9 15 16 12 9 13 21
2550 ;HHET 2 2 11 8 9 4 9 12 6 7
2560 = ST 17 18 18 27 24 25 28 31 27 22
2570 X &HT 0 1 1 4 3 3 1 2 1 4
9999 ME R X ET 149 134 132 178 160 140 154 144 154 150
3010 K#THT 27 20 24 27 27 17 22 27 30 23
3020 gt ;IHT 24 19 21 30 20 19 28 21 19 28
3030 L EFHT 20 19 23 18 20 25 19 22 22 21
3040 &S _LHET 3 1 4 5 4 4 3 7 4 7
3050 THESHHT 46 60 71 55 53 55 65 54 60 50
3060 B THT 10 12 14 19 16 14 10 17 9 17
3070 HEAEAT 7 9 10 17 12 17 15 15 12 14
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3110 EHeRILHET 12 10 19 18 13 10 14 10 13 14
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8150 IR AHBTEFRK L 1 3 5 3 0 6
9999 AKX 5T 45 32 53 43 66 54 46 56 63 51
9010 +THTAKEH 24 14 11 19 25 22 17 20 20 15
9020 FTHTHEA 5 13 11 8 11 9 7 12 12 16
9030 +THTH & H 25 34 32 33 31 37 35 35 33 37
9040 FTHTHEIH 32 40 39 49 41 39 30 36 38 35
9999 FT#XEt 86 101 93 109 108 107 89 103 103 103
9110 $RET T HIE 13 11 8 9 9 17 14 17 10 10
9120 SFETH L 3 4 3 6 7 2 8 11 6 9
9130 RETH E 4 7 4 3 10 3 5 7 8 1
9140 $RAT T4 17 15 17 13 18 16 12 18 10 10
9150 FRHET E&5 13 22 13 16 10 10 14 17 13 18
9160 SRETERHT 12 21 17 19 17 15 21 17 25 13
9170 $RATNEA 26 24 27 34 27 20 29 22 21 20
9180 #RHTEE 17 12 13 22 21 12 21 23 21 20
9190 $ERTZ O 1 5 5 4 8 6 9 12 9 5

9200 $EHTEFIF 13 10 9 8 7 9 11 3 8 2
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

9210 SFET=EH 5 13 20 9 5 16 5 19 11 13
9220 $EHT 7 H 19 10 15 11 13 15 19 18 13 13
9230 $EHTE M 20 21 24 23 22 20 20 23 19 29
9240 $EHETIEE 10 8 7 10 8 9 8 9 10 14
9250 % HT At #r b 13 18 11 17 20 17 17 19 14 25
9999 S XET 186 201 193 204 202 187 213 235 198 202
9310 E[FHET:AR 10 8 11 6 7 10 7 8 9 8
9320 H[SHETIL 7 5 10 6 14 7 13 9 5 8
9330 FH[SAT/INE 5 4 7 8 7 4 7 9 9 3
9340 R [ZHTR 15 8 8 12 9 13 17 20 17 14
9999 WG XET 37 25 36 32 37 34 44 46 40 33
9410 RET T & 14 9 9 11 17 17 9 11 14 10
9420 RHETHHE 6 8 5 4 8 10 5 7 12 15
9430 RETFER 3 6 3 0 6 5 7 5 5
9440 RETAEF 0 1 0 0 0 2 1 1 0 0
9450 RHETHER 1 0 0 1 1 0 2 0 0 1
9460 RET{—_HE 1 0 2 1 1 2 1 1 2 2
9470 RETEXR 0 0 1 0 0 0 0 2 1 0
9480 RHETHER 2 0 0 2 1 0 1 0 3 1
9999 RIXXEt 29 21 23 22 28 37 24 29 37 34

99999 H&&Et 1626 1580 1701 1783 1692 1728 1793 1912 1881 1888
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

10 HAT 3 9 3 8 4 5 0 1 1 2
20 fE&LET 7 7 6 6 2 2 0 4 5 3
30 @M 3 4 9 11 10 9 4 6 4 6
40 SRET 4 3 5 7 4 7 2 3 5 3
50 KET—T B 12 12 12 13 14 14 9 7 6 8
60 KET=TH 6 6 6 11 5 4 4 5 5 5
70 RET=TH 6 10 9 12 5 6 5 8 5 4
80 AT IEHET 2 1 5 1 3 3 3 4 1 1
90 FEHATIRAT 4 4 5 15 6 11 5 9 9 4
100 b ALET 5 4 5 5 4 4 3 3 3 3
110 T HT 27 26 32 38 34 29 24 21 14 17
120 ;T AHT 4 4 3 6 4 4 5 3 2 4
130 t&FHT 16 14 15 8 10 13 5 11 17 8
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 11 9 12 3 7 7 5 6 6 4
9999 KB XEt 110 113 127 144 112 118 74 91 83 72
510 AETHT B 21 17 9 19 8 19 9 10 10 12
520 HpEEMT 1 4 6 5 4 4 3 2 5 2
530 /\F&EHET 7 8 4 12 7 6 4 7 6 3
540 15 HT 8 5 14 15 15 11 12 4 6 14
550 FithET 15 5 6 12 11 9 10 4 8 9
560 = ZLHT 1 2 1 1 0 1 0 2 2 1
570 & EHT 2 2 2 2 2 2 1 2 3 0
580 #rBHET 9 11 3 3 2 1 6 8 8 2
590 FriEMT 1 5 1 4 2 3 3 1 2 2
600 ZEARET 29 25 17 22 20 10 7 7 13 8
610 &M 2 8 6 5 9 4 3 5 4 3
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 96 92 69 100 80 70 58 52 67 56
1010 X HT 1 12 6 7 7 11 3 3 2 4
1020 Lt FHT 8 10 8 12 16 11 5 5 10 6
1030 b HT 7 9 8 9 5 7 7 3 7 3
1040 75 K HT 15 17 12 14 11 15 9 8 7 14
1050 = HHET 17 10 20 21 22 14 11 8 13 8
1060 FH _EHT 5 15 16 14 14 15 7 5 11 9
1070 A7 R HET 11 15 18 15 11 18 11 9 14 16
1080 & HHET 10 8 6 13 6 10 7 9 8 7
1090 BHiEHT 26 28 25 18 17 9 16 11 15 18
1100 £ BEHT 13 20 17 22 17 17 8 10 16 16
1110 f21EHT 1 2 4 4 3 2 1 7 5 5
1120 #Z1E JCHT 2 1 5 2 3 1 5 0 2 2
1130 +4HT 1 0 2 2 1 2 0 0 2 1
1140 Fk[RHET 2 0 0 0 0 1 0 1 3 0
1150 #/RET—T B 4 4 9 14 3 5 7 1 4 7
1160 #EET=TH 5 7 9 12 9 10 2 1 3 9
1170 ;B/KHET 3 4 6 5 7 4 1 2 3 3
1180 EE&FLHET 6 6 14 7 6 3 9 11 7 4
1190 ##F AHT 10 5 6 11 6 10 1 3 8 4
1200 XFHET—TH 6 7 1 4 6 3 1 0 4 2
1210 XFHEIZTH 4 6 12 6 11 4 1 1 5 3
1220 FrHT 3 4 1 2 9 12 1 4 6 3
1230 #xKHET 4 1 12 4 7 2 6 6 5 3
1240 B EHT 2 3 4 5 5 4 2 3 4 5
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1250 fEEHET 3 1 4 4 7 5 1 2 0 5
1260 B R I& 1 0 2 2 2 0 1 4 2 0
1270 EEHT 6 1 2 5 3 3 1 5 2 0
1280 FRAHET 9 7 4 4 6 3 3 1 4 2
1290 $RHET 5 3 2 8 7 8 3 4 9 2
1300 & EEHT 0 5 5 5 7 1 4 2 3 5
1310 RJLHET 2 2 0 1 3 2 2 3 2 3
9999 K HEMRXET 192 213 240 252 237 212 136 132 186 169
1510 A& _E BT 13 24 25 19 24 18 15 8 21 23
1520 HEHTHET 23 25 33 24 33 23 17 19 21 19
1530 }EHTHT 9 8 6 11 11 17 9 8 14 7
1540 K4EFHT 21 16 15 18 21 26 7 13 13 12
9999 FEMNA: X 5 66 73 79 72 89 84 48 48 69 61
2010 EE AT 3 3 6 9 9 9 4 4 3 8
2020 % EFGHT 7 5 5 1 6 7 3 2 7 4
2030 AT 0 1 1 6 2 2 0 0 0 1
2040 ;ET—T H 6 10 5 8 9 10 4 5 5 1
2050 BT =T B 6 5 8 8 7 9 6 8 7 5
2060 #5 AT 1 1 2 1 5 2 1 1 0 3
2070 FxEBT—TH 9 11 8 8 6 7 9 0 6 7
2080 +RETZTH 7 6 5 7 9 4 8 5 6 4
2090 THiRAT 61 57 60 62 69 62 36 35 54 51
2100 fhdLHT 6 3 8 12 5 9 1 3 2 4
2110 }EWIETET—T B 9 11 4 9 10 11 4 5 4 7
2120 HEMIFTETZT B 8 10 11 9 7 12 6 5 4 7
9999 E B XEt 123 123 123 140 144 144 82 73 98 102
2510 FAMEET 60 54 64 58 78 62 39 32 57 34
2520 sk EeHT 36 37 40 43 40 28 25 16 17 20
2530 = /INRHET 18 9 10 14 12 9 4 4 4 2
2540 FHi5HT 24 15 16 28 15 26 15 12 12 15
2550 ;HHET 8 12 3 5 6 7 5 5 9 6
2560 = SHT 36 23 36 49 25 40 22 20 21 24
2570 K EHT 3 4 4 4 10 4 1 1 3 1
9999 ME R X ET 185 154 173 201 186 176 111 90 123 102
3010 X#FHET 46 25 24 37 34 35 25 22 27 18
3020 ;BT HT 30 28 26 41 32 42 17 13 23 11
3030 _EFHET 24 17 16 27 20 24 8 20 11 16
3040 &S _LHET 7 2 1 5 2 4 5 1 7 5
3050 B AT 55 48 71 72 63 63 26 32 38 42
3060 BN THET 9 11 29 9 20 20 8 12 14 20
3070 HEAEAT 18 21 23 14 12 9 11 14 13 12
3080 HHHHT 6 5 20 14 10 13 6 3 7 7
3090 HHRERHAT 12 15 8 14 5 6 5 6 8 12
3100 EH R FEHET 13 13 10 14 9 9 8 9 8 6
3110 EHeRILHET 14 18 16 22 17 21 2 12 12 12
9999 /\FHERXET 234 203 244 269 224 246 121 144 168 161
3510 2R LHT 4 9 7 7 7 6 5 2 6 4
3520 £ R chfT 8 8 13 21 20 10 9 9 13 12
3530 &R THT 41 37 28 36 29 22 18 18 18 20
3540 =B KHT 14 10 19 18 13 13 15 5 3 10
3550 AEFHT 27 22 29 25 39 25 16 19 19 22
3560 = T B HET 8 10 10 12 7 12 7 7 2 8
3570 = T AT 32 26 36 39 35 25 21 21 19 21

3580 ¢ LLITHT 11 17 20 24 26 19 10 10 11 10
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